I EHNERERREHYSERNEAENRE

Na : EEHIRER
ma : TRZETE
n : B EETTRZ ETHE
P ETRZEE
o @ E R BRI
. ﬁﬂ;{ﬁ%‘ ‘3’>Cs 0.662MeVIHNEEBRIKGEER

6.02x10%

fin =~ X0.680x 107 =0.043 X 0.680 = 0. 0292 cm/g

( 1barn=10"%* cm?® )
b g B E & L barn %E&&%E;%&%ﬁu cm’/g REALT » %‘%ﬁﬁn REFEL0.0430 EIF]
» WA S ISR 0.3764 » RBRMAASH® 7 SHEE R FRERSRANZESR T
ta (2RI =80% X e (R)+20% xp (&)
% 97Cs 0.662 MeVy 7 SHRTIS | |
Unm (W%)“80/X0 0292+20/><O 0295 0. 0293 cmz/gm : O

:::::ﬁfﬁﬁ%:
FOSWEEE S 1 HREFIE  HERE

| WEEEHY J7 5 L IRAT T S [HE AN E B
2 FERARBEEMMNC

3 REG—ET 7 —EBREkR R
4 EBWEHA—BAE

5 ERBEHBEREERIHREOE

6 BARSSE [BH ] REEATE

T kE— HAHE '
8
9

&Zuﬁﬂf'J_RO—<2w_‘ﬁﬁf)ﬂ(HQ:Em”“>U&dﬁ

MR AEE | R RREELTAD — — B %étﬂ’) HERAE—

—41—




